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Lecture 1 391 3 pudlonel!

1) The term “phoneme “refers to the smallest unit of sound employed to form.....

Between utterances. 1 ’ ;
: Lasaiall & E ol S "ddgio baxg” pllaias
a) meaningful contacts S i i, i

b) meaningful contrsaasts P §inalidne ila Jsaat
¢) meaningful similarities
d) meaningful contrasts

---------

2) The scientific study of speech sounds, including their production, reception ?
a) Phonetics
b) Phoneme L
c) Phonology Stylgeal)
d) Allophones

Selluiialy L) 213 § Lay o aMSS il gaot Analall Ayl

3) Is athorough description of the sounds of a language, including their classification,
organization , distribution , is a study of Phonemes ?
a) Phonetics

b) Phonology U3 I Lag Leaaisd s Leaglass g Ledaluai 2lls (§ Las 24001 Silgaadll uda cigos 50
c) Phoenix Slsigsall Lulys Py
d) Allophones Clgua¥ ale

4) Phonology is a thorough description of the sounds of a language, including their

classification, organization, distribution , is a study of...............7

a) Phonetics

b) Phoenix 9 Lehsliad 213§ Lay BAlH § Slgpadl 3:83 iy 38 Cilgua ple
c) Phonemes Olagaall Aty (g 2l JI Leg Leasiss 5 Leasdsss

d) allophones

5) Refers to the smallest unit of sound employed to form meaningful contrasts
between utterances ?

a) Phonetics Lsiiall geall § Bumg pisal J) s Trigen Budong” pllasas
b) Phoneme PN @ Aibakn s ST

c) Phonology
d) allophones
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6) distribution of sound examine the position in which each particular........ occur
a) Morpheme
b) Letter La Saa kT By @Y piaall J el Sigall s
c) Allophone
d) phoneme

7) Distribution of sound refer to ?

a) Examine the position in which each parted letter not occur
b) Examine the position in which each letter and allophone occur

c) Examine the position in which each particular phoneme occur

d) Examine the position in which each particular morpheme occur

Jl ey Sigeall pies
By SY pudgall
Sl HEaae (Adgea

8) Cardinal vowels they are distinguished from English vowels by ?

a) Using Below the line

b) Using Two points

c) Using square brackets
d) Using Punctuation mark
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Lecture 2 jaGlidl 5 pud localt
1) The criteria used for short vowel description ?
a) Two $ madll Uall Sigio hsag § Leakial sulall
b) Five Sap]
c) Four —
d) Three

2) Indicates which the vertical distance between the tongue and the palate ?
a) Tongue height
b) Tongue blade
c) Tongue position
d) Tongue tip

alizell g olaedll c Busgead! 2BLadl ) adis Hluddl § LaSyl

3) Tongue height refers to the ..............

a) horizontal distance between the tongue and the palate
b) vertical deviance between the lungs when one is panting
c) vertical distance between the tongue and the palate Sl g Gl a3 (g 3geall

Alaadl I s ol glas)!

d) vertical distance between the upper teeth and the palate

4) Tongue position refers to the ?
a) Horizontal distance between the tongue and the palate Geeia $ldlads olell gy
b) Vertical deviance between the lungs when one is panting | s> Sigue @lad S Ga Glaudlt
¢) Vertical distance between the tongue and the palate(close or open) ((als gi alel) e alall

d) Part of the tongue (front or back) is raised highest

5) indicates which part of the tongue (front or back) is raised highest
a) tongue highest
b) tongue blade '
c) _tongue position gl
d) tongue tip

(AL o alel) s Aall Bpo Sigum Blai Bism a Slaalll a2 g Sy

6) Choose the example containing the short vowel/1/?
a) pit-pin-bit
b) thought-law-horse
¢) nurse-bird-stir
d) meet-seat-sheet

5/ 1/ puad e By o gaim gl JULI A
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7) Choose the example that DOES NOT contain the short vowel /u/ ?

a) You
b) Too
c) Blue
d) nurse

§/ U/ suad dle iy e i W Al JULI A3

8) Choose the correct description for the short vowel / 1/.

a) Itis an open back vowel.
b) It is a central vowel.
c) Itis a half-open vowel.

d) Itis a close front vowel.

[ V] il Uall ooyl pumiall Cdmgli ga
alal Glie Al Cigua 4t

9) Choose the correct description for the short vowel Je/ ?

a) Half-open front vowel
b) Half-open back vowel
c) Central vowel

d) Close vowel

f I!;yn.i.ﬂ aladl Cigual E"“"A'" gl As
£ 50 Ciuad (pall g

10) Choose the correct description for the short vowel /z/.

a) ltis a close back vowel.
b) Itis a half-open vowel.

c) Itis acentral vowel.

d) Itis an open front vowel.

[ @ [ paitt Al cigiad meniall Ciiagdl sl
" gian alel Ciguo 430

11) Choose the short vowel that can be found in the word cut.

a) /e/.
b) /I

c) /D/
d) /a/.

Ll amyy ol o8as G peadll Aall Gigea s
! (cut) (aas)

12) Choose the example containing the short vowel /2 /?

a) Cut
b) Car
c) About
d) you

0544337029, 3Liasele ua s [6]
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13)  which of the following vowels is used in the word “pot”?

a) /e/
b) /ae/ $"POL” Lk § Leauiial aly 3N Aadl Slgual o g
c) [of [of
d) /a/

14) which of the following vowels is used in the word “gone”?

a) e/
b) /ae/ $"BONE" Lk § Lausiwl wdy R Uall Slgal o i
c) [o/ [o/
d) /a/

15) Choose the example containing the short vowel fu/
a) Did :
b) Cut SO/ puad e Gigso de gyim il JULI 5
c) put put
d) pot

16) Choose the correct description for the short vowel /o /?
a) Between half-open and open and it is a back vowel

b) Open front vowel
¢) Close and front vowel
d) Central vowel

Cigao 32 Lo 98/ 0 / puaill dall Sigial mriall ciiegll A5
Calsefl B (g5 4 Oigaa 90 9 T 93ae 9 T giae ual

17) choose the correct description for the short vowel /u/:

a) Itis a half-close and nearer to the center.
b) it is between cardinal vowels number 1 and number 2

10/ puadll Uall Sipual puasall ciiasl! jis|
uaiiat (m du by Glie el

¢) itis between half-open and open and is a back vowel
d) it is between half-close and close and is a front vowel

18) Choose the correct description for the short vowel /a/ “?
a) itis between cardinal vowels number 1 and number 2

b) it is between half-open and open and is a back vowel

c) itis between half-close and close and is a front vowel

[ 8/ padll dlall Zigyal c;-‘:w-"-—i.m_,."jﬁ-l
8§ 7 alae el g (3lie ral Ciguo o e gs
el B 36mn ym

d) itis between half-close and half -open and is a central vowel
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19) Choose the correct description for the short vowel /a /?

a) Open front vowel
b) Half-open and central vowel

c) Half-open vowel
d) Close vowel

0544337029 dlails eds

[8]

fAfMWiQJAWF#_’JUGJ
ol o 36 e Cigaas 38 9 T giae aal
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Lecture 3 AlTUN1 5 pud lonadt
1) The oral cavity is the part that ....

a) leads to nostrils and the nasal cavity %_?"t'é_@ﬂgiﬂ o)l 3 Sgadll gl
is the part that comprises the mouth A inh ) Gabs G il 90 G

b) comprising the lungs and the nasal cavity is the part that leads to the larynx
¢) comprises the nose and the nasal cavity is the part that leads to the mouth
d) comprises the mouth and the nasal cavity is the part that leads to the nostrils
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Example of long vowel
nlaglalt lal) o8 o Gallel
E 3: a: D! U:
Beat Bird Father Thought Goose
Mean Fern Start Law Two
Peace Purse Hard North Blue
Seen Nurse Card Board Group
Keen Stir Car Horse Food
Key Learn Fast Saw Soon
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Lecture 4 aadl 331 5 s lowadt
1) choose the example containing the long vowel / i:/?
a) Meet — seat-sheet
b) pit-pin-bit
c) put-push-pull
d) pat-Ran-cat

€ Lghall alall Ciges Jhes @I aliad] jlisf
A8y4 - Jade - slay

2) Choose of the following vowels is used in the word “meet" ?
a) fu/
b) f3:f T (meet) (peize ) "I Ak § cualill Aall Ciguo A1
c) fa/

d) fiz/

3) Choose the long vowel that can be found in the word meet.

a) /u:/

b) /a:/ T (meet) (peimi) 2K § ox gy ol oS il Jiglall Alall Sgie 721

c) /a:/
d) fi:/

4) A vowel which remains constant and does not glide ?
a) Pure vowel
b) Diphthong Sl Wy culd Jl Y Use p> g8 1Al alall 8o
c) Triphthong
d) Quadthog

5) Pure vowel a vowel which remains constant and does not glide called............. ?
a) Diphthong
b) Monophthong
c) Triphthong
d) Quadthog

ot B e L0 5 Y g1y e iy palls Ale By

6) choose the incorrect description for the long vowel /3:/

a) Central vowel
b) Well known in English as a hesitation sound

31 Jsshall Aall Cipia) pummae Akl ol A5
c) spelt er and the lips are neutral olel dle Sigum 21

d) Itis a front vowel
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7) Choose the example containing the long vowel /3:/
a) Go
b) About digb Ale Sigie o et gl JULI A5
c) Seat fern
d) fern

8) which of the following is an open vowel
a) /i:/ : =
b) fa:/ gride Ae Gigrn 52 i s
c) Ju/

d) /\/

9) Choose the example that does not contain the long vowel /a:/
a) Card
b] Father sl e Siguo o e W g AT JULI As
c) dead deas
d) hard

10) Choose the correct description for the long vowel fu:/
a) itis a front vowel
b) it is a back vowel
c) itis an open vowel
d) it is central vowel

Juif Jshadl dall Sigia) pumaall ciogll A5
walill 8 adly (e Siguo 90

11) Choose the example containing /u:/ ?
a) BLUE
b) Sun fuz/cgalt Jiey il JUb s
c) Put 31
d) about -

12) e is a glide from one vowel to another.
a) diphthong.
b) Triphthong
c) Vowels
d) Long vowel

2 Al Sigee e GV 50l
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13)

a) /i, Jut, 13/, 1, lai/ — —
b) fe/,/=/,/o/,/8/. /], /5], /M § GHHM pleaY Jias LI cleganll o s

which of the following sets represents the set of centering diphthongs?

c) [1a/,/ea/, [us/
d) fel/, /al/, o1/

14)

Which of the following sets represents the set of closing diphthongs?
a) fiz/<fu/f3:1./2/ Jaf
b) fe/./=/, [0/, /3, 1V, /o], /N

5 adlill bl syl e e gams Jias W Slegasll ca g

c) 18/, /es/ , ] va/
d) fa/Je/, /2] ,] su/,/av/

15)  Which of the following sets represents the set of diphthongs ?
" el fja/ol § ALY oo e gama ey 4! Gilegant! oo gl
16) what is the vowel used in second part of all centering diphthongs?
a) Je/ § A Slleay ga G 63l § pasiall dall Sigee ga L
b) /ae/ [l
c) /o/
d) [al
17) which of the following diphthongs is used in the word “ there"
a) /al
b)) ;U; / "there” (wla) &N § aoseiuwll alis¥! Sigee Jies 2L Slgua e &
c) lea/ lea]
d) /1a/
18) Choose the example containing the diphthongs /ua/?
a) Here
b) There s/0a/ aleav Cigse o (g g maiall JULI A3
c) tour toor glu tour
d) go
19) Choose the example containing the diphthongs /13 /?
a) Here
b) There 5/18 faleawl Sigen e iy (0 JULI s
c) Tour
d) hair

0544337029 lkasle s [ 13] IMD ems .3 guall allaity Oldguall

6ZOLEERPSD

<y el




gpys Biladlgd Analss T—{_‘.,'.I:.Il raill 2 1440 alrtlall atid) | (M Jradll 2 1440 Sl aled) alin]) ]
(21440 ) Js¥1 Laall ‘ (2 1439) JUI Jadd) i (2 1439) o' Jiaill ] Sl gl
Diphthong Cllasy
Centering )&= yalt Closing (@liet

) | U

Ia el =113

(] I al auv

Ul ol

$35pa ples] deased (D) 198 Ay wids gl plesyl Glie ales] Lo ( B)o(l) iy @dls G slalesy!
iy (8) pleayl gy sue

Centering diphthong ending '3’
(D 1ol oy gl (555 pall aldaN
la L ea Li 03 13
Idea Chair Sure
Fierce Square Assure
Ear Compare Cure
Hear Fair Tour
Domineer Dare Pure
Here Pair Conjure
Closing diphthong ending " 1 " Closing diphthong ending " o "
(1) yomy i liall alia¥ (U) yons i Blaalt ale Y
el gl al @i ol g9l v av
Face Eye | Choice Boat Mouth
Day Price Noise Show Clown
Break High Boy Know Loud
Great Try Joy Go found
Meat Buy coin
Triphthong AN el ¥
eld ala ola ava VI
Layer Lair Loyal Power Lower
Player Fire Royal Hour Mower
Mayor _Tire Soya Shower
Mayonnaise Enquire Employer
i (5) I aleayl gy sue @
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Lecture 5 jrwaeliel 3 pud lonett
1) choose the word containing the diphthong /au/:

a) sew -
b) caught ( diphthong) Je gsias @1 201 751

sew

c) door
d) saw

2) Which of the following diphthongs is used in the word “sew ”?
a) fea/
b) /1a/ SEW Al § puseies N SLLEW 0 gl
c) [au/
d) /fer/

3) Choose the correct transcription for the word clown.

*
a) /Klau*/ § ( zres) CIOWN L) dgpall ALK S5

b) /Kz=*/

c) /Ke**/
d) /klauvn/

4) Choose the correct transcription for the word here.
a) /hel/
b) [hia/ here aus) mesall judl! s
c) /hl/
d) /ha/

5) Choose the correct transcription for the word ever ?
a) Jever/
b) Jeva/ ever Ll paiall fudll s
c) /eva/

d) /eve/

6) Choose the correct transcription for the word care ?
a) /kear/
b) /keer/ care sl sl jadll 751

c) /kea/
d) /kea/
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7) Choose the correct transcription for the word verse ?
a) Jvas/
b) /veas:s/
c) /[fas/
d) /vars/

Verse it memiall fuill is

8) Choose the correct transcription for the word eight ?
a) /eghit/ eight a.sy | fesaddl_fs
b) Jeart/ I
c) /eight/

d) [eit/

9) choose the correct phonemic transcription for the word "coat"?
a) keut cilans OBt LT punsall Jiguall fndll jlis
b) /kaot/
c) /koaat/
d) /coat/

10) Choose the correct phonemic transcription for the word “loyal” ?
a) [laial /
b) flaial / loyal 2! pusall Jyeall gaill yas
c) /laua/
d) /leia /

11) Choose the correct phonemic transcription for the word “lower” ?

a) /laal/

E)) ”:zf;/ lower At mimeiall Jguall gl jlas

d) /leia/

12) Choose the correct phonemic transcription for the word “lair” ?
a) /laal /

b) /I
c}} ﬁif lair LK) miall Gyl gudll s

d) /leia/
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13) Choose the correct phonemic transcription for the word “layer” ?

[l
Z; [I::;;’ layer 2! il Jigall jsdll sl

c) [laua/
d) fleia /

14) Choose the correct phonemic transcription for the word “tower” ?
a) [taua/
b) /tais/ tower Lkl mmeall Jgsall alll jlas|
c) /taua/

d) /teia/

15)  Choose the correct phonemic transcription for the word “ anger” ?
a) /anger/
b) /eena/ anger LKl miall Gyall el s
c) [eengs/

d) /eenar/

16) Choose the correct phonemic transcription for the word “bank” ?
a) /benak/
b) /baenk/ bank LKl msall Jpeall gl ,lzs!
c) /bank/
d) /benk/

17) Choose the correct phonemic transcription for the word “put” ?
a) [put/
b) /put/
c) /pat/
d) /pot/

PUt 2K muiall Jpeall ol s

18) Choose the correct phonemic transcription for word 'bang'. ?
a) /baenn/

b) /baenk/ bang a.! miall Jgall gl s

c) /baeng/
d) /baen/

05443370295 Lasxle rels [ 17] IND e .d gall allaifly OLdguall

BZOLEEPYSO

e Ran'




I W A | (1 Jeadi 2 1440 Glpaldl alied) | (J5M Syl & 1440 2L 2lid)

(21440 ) Jsv1 Liadll | (2 1439) Sl Laall | {2 1439) Jg'¥l Ladll [ ciluslgll

19) Choose the correct phonemic transcription for word "longest'. ?
a) /lonkast/
b) [longast/ longest 4.kt paiall Jsall el jlis|
c) /lonngast/

d) /lonast/

20) Choose the correct phonemic transcription for word 'boat’'. ?
a) /baut/
b) /boaat/ boat LK) pniall Gigsall gl |
c) /caoat/

d) /boat/

21)  Wich of the following diphthongs is used in the word “go ”?
a) /ea/
b) /1a/ B0 1kl pumiall Ggeall el jlis|
c) [eu/ =
d) Jer/

22)  Which of the following diphthongs is used in the word square ?
" e

( aape )SQUArE A8l § auiielun 4Jll Slalia (e 5

23)  Which of the following diphthongs is used in the word “ there”?
a) /al/
b) /wa/ there .l § pusii 4l cllesyl ga gl
c) [eaf
d) /1s/

24) Choose the example containing the diphthongs /ea / ?
a) Here
b) There
c) Tour
d) go

( diphthong) Jle gsim; gdll JULI lasl

25) Choose the example containing the diphthongs / ua /?
a) Here
b) There
c) Tour
d) go

( diphthong) e sg3=, gt JULI jlasi
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26) Choose the example containing the diphthongs /a1 / ?

a) Boy
b) There
c) Tour

d) eye

( diphthong) Jle seims gadl JUbl slasi

27) Choose the example containing the diphthongs /o1 /?

a) Choice
b) There
c) Tour
d) go

( diphthong) e gyims gl JULl jlas

28)  Which of the following diphthongs is used in the word “eight ”?

a) fea/
b) /ia/
c) fua/
d) [er]

eight L. § pumie LGN clileav oa g

29) Choose the example containing the diphthongs / au /?

a) Boy

b) There
c) Tour
d) boat

( diphthong) e ey g1 JULI jlas

30) Which of the following diphthongs is used in the word “mouth”?

a) /ea/
b) /au/
c) /ev/
d) /er/

MOUth Ll § podkiong 400N Slalzs¥ oe g

31) Which of the following diphthongs is used in the word “couch”?

a) Jea/
b) [av/
c) Jev/
d) Jeir/

0544337029, ladle jra s [ 19]
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32) Which of the following diphthongs is used in the word “coach”?
a) /ea/

b) [ou/ coach Ll § pasiw ol clelza¥ o gl
c) Jer/
d) /av/

33) e is a glide from one vowel to another and then to a third, all produced

i i interruption 7
rapidly without interrup 5 cans5T ] Ao iswo a5y ) 51 4 Triphthon

a) long vowel
b) short vowel
c) diphthong
d) triphthong

pllaiil i Ha i3 I

34) which of the following triphthongs is used in the word " mayor "

a) [eua/ -~ L .
YOI 4K 4 auzxi triphthong clsel o
b) fela/ o ’ e :::I
c) /ala/ aoly oo S Camantil 259 Silgeal- ¢ triphthong
d) /ole/
35) which of the following triphthong is used in the word ‘player’:

a) [enf

b) /aia/ player K j auxius triphthong il oe g
c) 213 lela/
d) aus

36) Which of the following triphthongs is used in the word “lair” ?

a) faua/
b) /eia/
c) [aw/
d) fas/

lair g § pusiatriphthong cilse! oe @l

37) Choose the word containing the triphthong /ala/

a) Lair

b) loval ( triphthong) Je gyixs &1 231 sl

c) lower Loyal
d) power
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38) Which of the following triphthongs is used in the word “loyal” ?
a) /faua/f
b) /aua/ loyal 1.5 § auseiui triphthong cise! o i
c) /aie/ -
d) [as/

39) Which of the following triphthongs is used in the word “power” ?
a) /[ava/
b) [aua/
c) Jaef
d) /ae/

POWer 1aK § ausiui triphthong clgwe! oa

40) Which of the following triphthongs is used in the word “lower” ?
a) [aus/
b) /aua/ lower . § pasia triphthong oigsel os gl
c) fawx/
d) /as/
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Lecture 6 rwalud) 3 yuslozel)
1) Choose the correct sentence

a) At the front, the vocal folds are joined together
and fixed to inside the .arytenoid cartilage

b) At the front, the vocal folds are joined together
and fixed to inside the cricoids .cartilage

g bes Amaimepall Lilayl Asl
ilealia pulgall Jlondt Ga Gosale Wi ol W1 el
iy I B pudaiTla e g pdad| lgudiasy

c) At the back, the vocal folds are joined together and fixed to the outside of the
thyroid cartilage

d) A ont, the v re joi ether and fixed to inside thyroid
cartilage
2) At the front, the vocal folds are joined together and fixed to the....... cartilage.
a) Thyroid
b) Crucial B gyailly Zate s paadl Laay Aade Adgeall Jladl (e Ruala¥l el3a¥1 (9SG
c) Artist

d) Arytenoids

3) Choose the correct sentence ?

a) At At the front the vocal folds are attached to a pair of small cartilages called the
arytenoids cartilage

b) At the back the vocal folds are attached to a pair of small cartilages called the
arytenoids cartilage

c) At the back the vocal folds are attached to a pair of small cartilages called the
thyroid cartilage

d) Atthe back the vocal folds are attached to a pair of big cartilages called the cicoid

sl o ayy Ladll e g5 Blady Sl hlgaalt Jhon W12 Bl g jatl OB ¢ b Lus dmumiall ZylM A5

( Plestall By pad Gaud )3 psiuall

4) At the back the vocal folds are attached to a pair of small cartilages called the .....
cartilage ? : ' : :
a) Crucial ) ikl caliadhl o g oy Slaly il Ligmall JLa¥l: Galadl 452t §
b) Artist (Hlestall gyni ous
c) Thyroid
d) arytenoid
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5) Where the arytenoid cartilages are attached ?

a) They are attached to the cricoid cartilages

b) They are not attached to the cricoid cartilages F ol sl a‘f“‘-”“' Ay Sy “:'
c) They are attached to the artist cartilages galont) g puadlly dlay) A%

d) They are attached to the thyroid cartilages

6) Pulmonic airstream may be ingressive as’............ 4
z)} :” 5"‘°kE_ LS (13 b Sy gl Syl il 3
n speaking .
¢) In breathing uaddll b

d) In Sneezing

7) Almost all the sounds we make in speaking are created with the help of air
compressed by the lungs; the adjective used for this lunge-created airstream is

a) Plutonic Dogiall clgdl Baelue Laglisl oo Susmdll § Lasial 1 SlgaYl S Luyds
b) pharaonic G901 Gladl stall Faaahl iy Reaseiad | Rdsalle iyl Jud (e
c) phonetic
d) Pulmonic

8) Pulmonic airstream may be egressive as’............” ?
a) Insneare
b) In speaking
¢) In breathing
d) In Sneezing

" aleait o LB gas 01 Jlaedl gasall (158; 4

9) women'’s vibration of vocal cords is .....
a) faster than that of men.
b) Faster than that of women'’s
c) Less than that of men
d) Slower than that of men

Sl ie 35981 (e B sl claill aie asgaall Jladl 3l7al

10) The ...ccvene.ne. refers to the opening between the vocal folds.
Goodness.
E)) szdess Aipeadl Juall gy 2301 Jladaylajall Gl
c) Glottis.
d) Glosses.
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11)  For voicing to be possible, the pressure of air below the glottis must be .............

Other wise voicing will not happen. AT i gl Sk i ) i il ey
a) Lower than the pressure above 4
Slapkl dad Jaiall pe el

the glottis (i.e. in the mouth).

b) Higher than the thresher beside the farm (i.e. in the land).
¢) _Higher than the pressure above the glottis (i.e.in the mouth).
d) Drier than the treasure above the glottis (i.e. in the golden cords).

12)  For voicing to be possible, the pressure of air ............ the glottis ?

a) Below the glottis must be higher than above [ = bl ki = ]
b) Below the glottis must be lower than above | ~—2%¢ — "“'f “*Tn"*':'d
c) Top the glottis must be less than above S0 gl Slnl) G4 et s lapel)

d) Upper the glottis must be less than below

13) Variation in sound quality can involve ...............voice.
a) Harsh, creaky, whispering , and hoarse, -
b) Frequent and in frequent. fdada ol (Sas cigrall Baga § EDLsY
c) Loud and low. Sirly Lugage ( siso 93 liuld Goo

d) Male and female.
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Lecture 7 aasludi 3 ualozel!

1) Choose the correct sentence

a) /k/and /g/ are pre- velar plosives allophones

b) /k/ and /g / are velar plosives sounds
¢) /k/ and /g / are alveolar plosive sounds
d) /k/ and /g/ are velar nasal sounds

2) which of the following are velar plosive sounds:

= [k/and /g/

Lmumeall dlomll Asl
vady bt (sl Sifgual o8 g 9 K

§ Aulaedil Audls cilgeol (P JEI o0 (g

3) the two sounds are plosive velar consonants?

a) /p/and /b/
b) /k/and/g/
c) /f/and/v/
d) /f/and/3/

4) The two plosive bilabial sounds are

a) /k/and /g/

§ dle doylmiiil Slgyal papiadec: g Gligaall

JLIRYI-A

b) /p/and /b/
¢) /t/and /d/
d) /I and /r/

(cdidt dalgy 3laxs) i il &leatyl Silgeail pa Gl

5) which of the following are bilabial plosive sounds:

a) /k/ and /g/
b) /p/and /b/
c) /t/and /d/
d) /I and /r/

Alamiil Lgdd Slguol (p JUH e

6) which of the following is an alveolar plosive sound:

- 1t/

Golamdily pall ciday lalll o pils Sgio g2 JUII (e g

7) Choose the group of sounds whose place of articulation is alveolar

a) /t/and /d/
b) /8/ and /8/
c) /b/and /m/
d) /k/and /g/

(8l hding plaalll ) Ghaall oSlal Leb audeind G lgaa! 2egama sl
[t/ and /d/
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8) The place of articulation for the consonant /k/ is.
a) Glottal
b) Palatal gl K/ (SLul aigiall Jaal (s
c) Velar
d) bilabial

9) choose the phoneme that represents a velar place of articulation?

a) [k/

b) /w/f Sl Lo e Jias S dsiguall gl s
c) /b/ Lkt
d) /s/

10) The phase When the articulator moves to form a stricture for the plosive is.....?
a) Post-release phase

b) The release phase @ Lol SlgeaSl et Ly UKD glaill slyac] yats Lavis
¢) Compression phase AL Al e
d) Closing phase

11) The phase When the compressed air is stopped from escaping is .....cceeesens ?
a) Post-release phase
b) The release phase Ul a Jagiall gl il ol Lauie
c) Compression phase S THA P

d) Closing phase

12) the phase when the articulators used to make a stricture allow the air to escape is

a) The release phase. B ool o atians Jaal Falll ljact pluddoel Aomya B
b) Compression phase M Al 1o

c) Post-release phase
d) Closing phase

13) The release phase refers ? shac! af dblul Al po J) 485 Bl alsya
a) To what happens after allowing air to escape ORIV 1 ggll Prasud Gt Jaal Glaill

b) When the articulator moves to form a stricture for the plosive
c) When the articulators used to make a stricture allow the air to escape
d) When the compressed air is stopped from escaping
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14) The phase refers to what happens after allowing air to escape is ....c.c......?

a) Post-release phase
b) The release phase ol elaell plawdl say Sy L J) i Aoyl
c¢) Compression phase MY day be Al pe

d) Closing phase

15) The phonemic transcription for the glottal stop in the word water
E} ',L_'Ef saWater sl &S § ( ojaqll) cadgill gHlaphl cigeall { dggiall aulasll) Gigiall gyl
c) /¢f
d) /d/

16) which of the following is an alveolar plosive consonant?
a) /v
h)l /Lti T il gylemasl Sl Sigga ping BJLHN Silgua¥! a5l
t
c) /m/ =
d) /n/

17) The manner of articulation for the consonant /t/is............
a) Fricative
b) Affricate
c) Plosive
d) Approximant

Gyl [t/ SLl Cgaall Lia Jaad 22

18) The consonant /t/is ........?
a) A voiced approximant consonant
b) A fortis affricate consonants
c) A fricative alveolar consonant
d) A fortis plosive alveolar consonant

Jt] SLah o ati
AL e (g ol S tdin (Sl Cigua

19) the consonants /g /has a plosive _____ of articulation?
a) Place
b) Tongue height § dalas Al § olaiil iges 98 /8] oSl cigeall
c) Manner

d) Tongue position

v 1| L— refers to the /h/ - like sound recognised after the release
phase of an initial voiceless plosive. @Mlo] Aya wag gkl N ) aisguiailt Slas Flazhy
= Aspiration. @ladi] ( Gl 4t ) Ggray s g TN Sgall

0544337029, Lasxle jrai [ 27] oo dexe s Tguall allailly OlFgalt

6ZOLEEVYSO

ey TR




Liugags Lalud gl anlpa ‘ (U Jeadll 2 1440 =), A0L Aliwi ) [ (Ja'¥! Jeadll & 1440 1 50LL Atiud)

(2 1440) s badll | (»1439) JUH Juadll ] (2 1439) Js¥ Ladll | Slaa gl

21) Choose the correct sentence

a) Aspiration takes place when triphthongs
are at the beginning of a word

b) Aspiration takes place when we have
initial voiced plosives consonants

1 Les Ampmiall Al s
P LD Ll Gesay leudic Susey uisill sbad Glailt
P=T-K pafu sl pud sl gyl Ol gual

c) Aspersion takes place when we have initial voiceless plosives consonants
d) Aspiration takes place when we have initial voiced nasal consonants

22) Choose the word which involves an aspiration

a) Back

b) Gear (P=t=Ku iag @ 2l ) odill s Blai e Go2ad Gl LT 7l
c) Dear ) pat
d) pat (il phar Flo 2K Byluts § PUI aga ek Luils hall g 3o Uity e (30 ST L )2 recings

23) choose the word which involves an aspiration ?

Pack — Kill il Say laill Jias G Glakl jlasl

24) Choose the word which involves an aspiration?
a) Could
b) Girl
c) Clear
d) front

could eaill Moy haill Jia §I clal ylis

25) Choose the word which involves an aspiration?
a) Game
b) Face
c) Kind
d) back

oeiill Bay (3las gpauinds (I R A5

26) The PHONETIC transcription for the aspirated voiceless alveolar plosive in till is....

?3: ﬁtl%.l Olaalll) 4y putieieny gilAal pidl Cigeall edill Soy Blaill dgigeall LS
c) [t] [H"] cilt: J gl ( it g

d) [1]

27) The phonetic transcription for the aspirated voiceless alveolar plosive in pat is ?

a) /p/
b) [p"] Olalll ) & pasig giFal pill Sigiall puisll Hay laill Ageall LS

¢) [o] [D"] pat: g laisvt ( pall g
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21) Choose the correct sentence

a) Aspiration takes place when triphthongs
are at the beginning of a word

b) Aspiration takes place when we have
initial voiced plosives consonants

1 Les Ampmiall Al s
P LD Ll Gesay leudic Susey uisill sbad Glailt
P=T-K pafu sl pud sl gyl Ol gual

c) Aspersion takes place when we have initial voiceless plosives consonants
d) Aspiration takes place when we have initial voiced nasal consonants

22) Choose the word which involves an aspiration

a) Back

b) Gear (P=t=Ku iag @ 2l ) odill s Blai e Go2ad Gl LT 7l
c) Dear ) pat
d) pat (il phar Flo 2K Byluts § PUI aga ek Luils hall g 3o Uity e (30 ST L )2 recings

23) choose the word which involves an aspiration ?

Pack — Kill il Say laill Jias G Glakl jlasl

24) Choose the word which involves an aspiration?
a) Could
b) Girl
c) Clear
d) front

could eaill Moy haill Jia §I clal ylis

25) Choose the word which involves an aspiration?
a) Game
b) Face
c) Kind
d) back

oeiill Bay (3las gpauinds (I R A5

26) The PHONETIC transcription for the aspirated voiceless alveolar plosive in till is....

?3: ﬁtl%.l Olaalll) 4y putieieny gilAal pidl Cigeall edill Soy Blaill dgigeall LS
c) [t] [H"] cilt: J gl ( it g

d) [1]

27) The phonetic transcription for the aspirated voiceless alveolar plosive in pat is ?

a) /p/
b) [p"] Olalll ) & pasig giFal pill Sigiall puisll Hay laill Ageall LS

¢) [o] [D"] pat: g laisvt ( pall g

0544337029, laixls v [ 28] 50 dema.s ipall aliaitly Cldgalt

6TOLEERFSD

ey e




Rige Rall gl Ranoa | (Sl el & 1440 cfoaldt alind) | (UsW el 2 1440 iy 81 Asad )

(a1440) Jﬁ"l Jeaddl ‘ (.a1439) l‘,'lL‘aJ'! Juaddl (a1439) ‘Jj“‘ Jyaill I APERTN |
28) The phonetic transcription for the aspirated voiceless alveolar plosive in kill is ?
a) [k"]
b) [c] Olaalll) 4 paiig gilRal pidl Sgall il Moy Glaill dagsall 2,800
c) /k/ [K"] Kill:  glamts¥i ( oadt cidias
29) Aspiration happens a result of the ..............
a) Soft palate being lowered at the J Ay il ey gl Sy
time of the articulator release. Cgealt! 3ol Sdyrgdpual! Jlenll deold

b) Vocal folds being widely parted at the time of the articulator release.
¢) Vocal folds being tightly pated at the time of the articulator release.
d) Lips being strongly rounded of the time of the compressionphase.

30) Choose the example involving an unaspirated plosive

E; i{':'l'f’k‘“g kil o ey dlady Y (glamdil Cigeas g Aal e goim gl JUlI A5
i

Strong-

'c:i}) i::" el eday Fazi ¥ LalE S 4 Guad g Pt =K gy o L1 Tk Losie s Aaodla-

31) Choose the word which involves an Unaspirated?

a) Pat -
Sl eey 3lats ¥ (gylomdil Sy 1 A does gdl JULI
b) Spot il sidey Blady ¥ (olandil Sageay bt e gaimy gl JULl A5
i spot-
c) Till
d) kill

32) Fortis consonants have...............

a) The effect of shortening a following vowel.
b) The effect of lengthening a preceding vowel.
c) The effect of shortening a preceding vowel.

e Bouddl S Lall o gaal
gl M (dal) Cilgusl padll B 05

d) The effect of lengthening a following vowel.

33) pre- fortis clipping means that fortis consonants have the ability
a) of shortening a preceding vowel DSl el o g il Al capam i
b) of prolonging a preceding vowel il gl Suil)

c) shorteningafollowi[wg consc.:»nant A gung SN Cipas i (b
d) shortening a preceding plosive
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Lecture 8 Alelll! 3 pud el

1) The only symbols that may be used are those which represent one of the phonemes
of the language, and extra symbols are excluded. We use slant brackets or slashes ?

a) Phonetic transliteration
b) Phonetic transcription
¢) Phonemic transliteration

d) Phonemic transcription

4Bl

Jodsg Geinds 589 Adgsall Sl ol e BusleS sum ol s pMSU Siges

el B 9l LIl a ity Ageall cilus gl alusiul e
Teidgual! O dow g3 Frasd

2) The manner of articulation for /[ / and /3/ is

a) Affricate
b) fricative
c) plosive

[T/ and /3] cigalt it gl
riSaiaial Olguol-

d) nasal
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Lecture 9 rawlil 3 uolomel|
1) choose the group of sounds whose place of articulation is dental

a) /s/and /n/
b) /b/and /m/ ( oliw¥! ) Glatll 58l Lod (3955 @) Slges¥l dcgama sl
¢) /k/and /g/

d) /8/ and /8/

2) /8/ and /&/ place of articulation is ......
a) dental.
b) Bilabial
c) Palatal
d) labio-dental

S s glatll e /8/5/0/

3) The two consonants /f/ and /v/ are examples of
a) bilabial nasal consonants

b) sounds that are always syllabic e Jua/f/ and [y wsLadi cilgant
¢) alveolar and lateral approximant sounds | (ot s 2l diisl friselu pysaisads| Olge).

d) labio-dental fricative consonants

4) the consonant __ has a labio- dental place of articulation?
Z]l' ?E}' Skl pe chsli il olaTll e 09 ddlas G/ GSLall Siguall
c) /r/
d) [v/

5) The place of articulation for the consonant /8/ is.
a) Bilabial
b) Palatal GLiaad/ B/ SLull cipuall i (e
c) Dental
d) labio-dental

6) the place of articulation for the consonant /4 /is?

a) Bilabial
b) Palatal [8/7135 S50l Cigsall dlas i
d) Labio—dental
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7) The consonant ........ has a labio-dental place of articulation.

a) /n/

b) /k/

(Ol s slatdl) it ot [ £/ oSLudt Cigual

c) /r/
d) /f/

8) /f/ and /v/ are examples of
a) dental fricative sounds
b) bilabial nasal sounds

c) Labio dental fricative

e pfv/o/ff
Labio dental fricative

d) sounds that are always syllabic

9) /f/ and /v/ are examples of

-------

a) Labio dental
b; Dental de il p /v /5 /]
Labio dental
c) Palatal
d) alveolar
10) In...... voice, the vocal folds vibrate but allow a considerable amount of air to

escape at the same time.
= breathy.

&n B Aay s Sy Lgall Jlo 5 i Ciguall 3
gl gadi gyl olagll

11) 1fyou make /[/ then /3/ you should be able to feel your tongue move ......

a) backwards.
b) onwards

c) toright
d) to left

sgadidl e 1hold eSS o cuma b /3 /08 LA/ [/ cige 28 130
it g1 gl gt M s il

12) Choose the glottal fricative consonant.

a) ft/
b) /p/
c) /w/
d) [h/

0544337029, 3kasle s
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13) which of the following is a fricative phoneme?
a) /r/ o
o) 1t/ _
d) /k/

14) Manner of articulation for /s/ is ?

a) Approximant
b) Affricate

c) Fricative

d) plosive

15) The consonant /3/ is ..

a) a bilabial nasal
b) alabio-dental fricative
c) an alveolar nasal

gl 5] Jl e g dasl

veeree. phONeme.

il day be oSalsmliond diga Bumg g4 /3/ L oSl Siguall

d) a post-alveolar fricative

16) the place of articulation for the phoneme /[/ is

a) Alveolar

b) Dental

¢) Post-alveolar
d) Labiodentals

17) The phoneme
a) /r/
b) /If
c) /3/
d) At/

Sl L aggeall basgll glas s
AU e Lo

is a post-alveolar affricate ?

LU g La €L Siga / B/ Ciguall

18) the place of articulation for the phoneme /e/ is

a) Glottal
b) Alveolar
c) Dental
d) Bilabial

5./8 /18 Adgeall busgll 3l K
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19) /8/ and /8/ manner of articulation is ...... ?
a) Fricative

b) Palatal Vi o | SLl il guc¥ i 3l 2ayle /3] 5 /8
c) Plosive
d) dental

20) The manner of articulation for the consonant /8/ is.
a) Plosive
b) Fricative Vsl /B/  oSLult cigiall fia glas 2k
c) Affricative
d) Nasal

21) /8/ and /8/ have fricative ...... of articulation ?
a) Places
b) Manners 8101 LSLll lgul Lia Glad 3a b /8] 5 /8/
c) Plan
d) model

22) The consonant .......... has a fricative manner of articulation.
a) /d/
b] /tf 5o daalagil § S HSLall Siguall
c) /r/

d) fz/

23) choose the phoneme that represents a glottal place of articulation?
a) /b/
b) /t/ e sLapkl el Lyl (5 a5 1 ( uaigdl) dsigeall ouiomgll i
c) /n/ [hl
d) [h/

24) the consonant /d/ has a _____manner of articulation ?
a) Bilabial
b) Dental § diles Aasls § EmlElion 4a /8] /15 [ culall Sgsall
c) Glottal
d) Fricative
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25) the consonant __ has a post — alveolar place of articulation?

a) /n/
b) /k/

§ aydin Bl iy Lew il o JJ/ L o SLatt Ciguall

c) /p/
d) /i

26) he manner of articulation for the consonant /e/is _?

a) Plosive
b) Fricative
c) Affricate
d) Nasal

05443370295 luadle jraudse [ 37]
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Lecture 10 3,llali 3 yudloweli
1) Choose the correct phonemic transcription for the word “anger"
a) /anger/
b]' /aer]a/ "ANGEr " cuas kK pusyall whosall flll fs
¢) [enga/
d) /eenar/

2) choose the correct transcription for the word ‘bank’:
= [baenk "bank’ " el LK axsall giall Al 51

3) Choose the correct phonemic transcription for the word longer.

= [longa/

"longer” Lok 18] ruxiall Jsiall jwill sl

4) Choose the correct phonemic transcription for word 'bang'.
a) [baen/
b) /beaeng/ "bang” jimis 1k mmeall Gpeall il s
c) /bank/ .
d) /baenn/

5) Choose the correct phonemic transcription for word 'longest'.
a) /lonast/
b) /lonngast/ "longest” Jsl A pusaall e ]! i
y Fgeall jeadl) i)
c) [longast/
d) /lonkast/

6) During the production of nasal consonant, the soft palate is......

a) Lawyered
k)} Raised :q,i:P;th&h:ﬂ.-J:ﬂljphibs il Sigpall Slasl M e

- .

c) Layered
d) lowered

7) The sounds /m/ is
a) bilabial plosive consonant
b) palate plosion consonant 1Im/ by cig

¢) bilabial nasal consonant a3 Gayle o gl Oigus 38 9 Salu gl Oy
d) fricative consonant
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8) Manner of articulation for /n/ is ?
a) Approximant
b) Affricate gl :/ N/ gaidanb
c) Fricative
d) Nasal

9) Manner of articulation for /n/ is ?
a) Nasal
b) Approximant g/ n/ ik
c) Affricate
d) fricative

10) which of the following is a bilabial nasal consonant?
a) /if
b) /m/ § oSlu Al igia BJEH Slgeal (e s
c) /p/ [m/
d} /n/

11) which of the following is a bilabial nasal sound:
a) /m A
c) /n/

d) /p/

12) Choose the example that represents an affricate sound that is composed of a
plosive followed by a fricative ?

a) /ti/ il 3 olamiil Cagaay fguiss gidl JULH 55l
b) /pm/ M) $&t cipas
c) /fv/
d) /wz/

13) Choose the example that represents an affricate sound that is composed of a

plosc;ve followed by a fricative ? iz s dolmdih Cipomt 532 gl JUL1 751
‘E:; fup = [d3/ §Kasl Sgia
c) /ffv/
d) /wz/
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14) The two phonemes /tf/ and /d3/ are.........

a) affricate sounds composed of a fricative followed

by a plosive Lea ftf/ and fd3/ tsall
b) affricate sounds composed of a il il Govaay SRy (g
plosive preceded by a lateral approximant = il o

c) fricative sounds composed of a plosive followed by a nasal
d) affricate sounds composed of a plosive followed by a fricative

15) the sounds /t[/ and /d3/ are ....

_ A dad Lot agllSaey usalSaiod o il Sl Los Ly L5 oBggal]
= affricates post-alveolar sounds.

16) There are .......ccoeuen fricative consonants in the English phonemic system ?
a) 3
b) 2 SEndmiv! 3l § Ggeall alladl § (3 5E01) Sigeol amud 2llia
Bl
d) 9

17) there are ____affricate consonants in the English phonemic system?
a) 3
b) 2 SEalaiyl Balll § Jeuall allazl] § ( S0a gylmisl) .;[,.,algqu::]_! s
c) 4 g LES Lea
d) 5

18) There are................ nasal consonants in the English phonemic system ?
a) 3
b) 2 gl Salll § Jaeall allaall § (2uisl) Cigeol AN 2llia
c) 4
d) 5

19) Thereare........ lateral approximant consonants in the English phonemic system ?
)
)
)
)

TE=t! Ball § Jaall plasll § (oils oiylise) donly Ciguo ollia

(=2

(2]
(8, I S S [

[=

20) Thereare .......ccoueen. approximant consonants in the English phonemic system ?
a) 3
b) 2 SEnlel Bl § Ggeall allaall § (@Line) Slgee! DD 2llia
c) 4
d) 5
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21) Choose the correct sentence

a) /n/is an alveolar nasal consonant
and /n/ is velar nasal consonant

b} /n/ is a alveolar plosive consonant

Axemall Ll S50
3 Gl Pulasd gy St s § AW Gapde e Eil GSale Spea 1 9810 Cigue-

and /n/ is an alveolar phrasal consonant
c) /n/is a velar nasal consonant and /n/ is velar nasal consonant

d) /n/is an alveolar nasal consonant and /n/ is velar nasal consonant

22) They .....ce....... are the only tow consonants that do not occur initially.

a) Nasal /*/ and the fricative /z/. " . =
akadsg z n Z i o diead Sl Cguall .
b) Nasal /m/ and the approximant /W/ oy B il o T 4 e

c¢) Nasal / n / and the fricative / 3/ ortamgll iSLall siguall 3 ] plimtintion ¥ Ciguatly 351

d) Plosive /p/ and the lateral /|/. JaB N O oot 3 abU

23) theconsonant /d3 fisa|__ ?
a) Voiced fricative consonants
b) Fortis affricate consonant .. dlive o fd3// Lra / SLall Cigualt
c) Plosive alveolar consonant aade Ealbmial ) ladd (Sale Dge

d) Lenis affricate consonant

24) Manner of articulation for /d3/ is ?
a) Approximant
b) Affricate 143/ / 123/ 3lai 2assle
c) Fricative ! fSalu Sgue
d) plosive

25) The consonant .......... has an affricate manner of articulation.
a) /d/
b) /d3/
c) /3/
d) /r/

98 Baalll adh § SEiW Glmditl SSLall Cigeall

26) the phoneme ....... is a post-alveolar affricate voiced sound.

a) [d3/ ((olmiit — SKinl) LU day Lan Glais Siguo (2 D3 b3 Asgiall 3usgll
b) /d/ —

) /d/
d) /f/
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27) The phoneme......is a post-alveolar affricate lenis sound ?
a) /d/
b) [d3/
c) /8/
d) /f/

(@laes! — SEGo1 ) LN iy Law Glaiy igen p d3 L3 Bigiall 5asgli

28) Choose the voiced affricates consonant ?
a) /tf/
b) [d3/
c) /d/
d) /k/

oAl oSl Cigeall 754

29) One of these sounds is not fully distributed:
= /n/ JalSia pk dansier 2 Slgqatrl sis uai

30) Which of the following has an initial affricate consonant.
a) Sheet
b) Measure ( Sl — golamiil ) Shae gy futy JUII 0 s
c) Chat Sundy iaes Chat
d) Cat
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Lecture 11 e (aaaloet 3 pus lomalt
1) .errrenenenetfers to the different realizations of the same phoneme.
a) A phoneme.
b) A morpheme.
c) Aallomorph.

digqall susodl aiid dalizll o 1a1 JI L;hl" ,3,3'.._&
o a5 L 1315 apam 5 4isliakl o) il ¥l sgadll ) muasill

(12 3) Gl Silyap 25 dlaty Slpag § o Blais Silpe Glaill § JELSI S50

d) An allophone

2) phonemes are" types" and their actual pronunciations by speakers are "............".
a) Taken. .
b) Tokens. token jaapt sa cusill dasly Jaill Lilais types (z15M) p asgiall clusgll
o ﬁ;;,- ( Clasgdl sigd Jaill ghall ga tOKENJly 53ymll didgeadl Slussll Lwis p typeSJl lap ze2s3)
d) Types

3) Phonemes are “..........”, and their actual pronunciations by speakers are “tokens” ?
a) Taken
b) Types Unulyy Jadll Lalaig types E193%1) 4 abpiall Slasyll
¢) Trips token sl ga cdaxill
d) tokens

4) The IPA ( the International Phonetic Association) has taken the responsibility for

for use in practical phonetics.
a) maintaining a nonstandard set of forensic symbols.

b) maintaining a standard set of phonetic symbols.

(Ggeall Jodl slmi¥l) IPA Ziaesr adsd
AsaliB Ao gazes e L5 Laset! 353

¢) maintaining a standard set of alphabet or letters. 3§ Leluszaiiapiguall S gaM1 e
d) maintaining a dialectal set of phonemic samples. Aulaall Sldgall

5) Symbols used to represent speech sounds ?
a) APS
b) ARI
c) NAC
d) IPA

SIS Sl gl Juiad] Batimianll jgall
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6) The transcriber may use the full range of phonetic symbols (including diacritics) if
these are required. We use square brackets ?

a) Phonetic transliteration 5§ Lay (Rguall 59a5ll (pe AN Aegaren plidiiad jeslill o Sas
b) Phonetic transcription Baill pelad¥ gt dugliang S 13]) JuSALIH

c) Phonemic transliteration Sgualt frauitt

d) Phonemic transcription

7) The English phonemic system has a total of.............. phonemes ?
a) 44 :
b; 5_ Lgio 44 degame Lo o il Jguall allaslh gim,
c) 7
d) 24

8) he English phonemic system has a total of ........... consonants.
a) 24 o
b) 44 - sl u)*“fi?u#‘Qﬁﬂ?:ﬂnjj+ﬂd|ru“Jiéjlﬁe
¢) 20
d) 28

9) we have ....... consonants in the phonemic system.
a) 24 s 1
b) 44 - igall pllss § TSl Bgen 24 Lo
c) 20
d) 28

10) The English phonemic system has a total of ......LONG VOWELS.
a) 24
b) 44
c) 20
d) 5

- Aisko Ale Silgeal D e GilmiY Ggsall pllsull ,_i,uu—|

11) The English phonemic system has a total of.............. short vowels ?
a) 44
b) 5
) Z
d) 24

el Ae Silgeel 7 fe ilaiYl Ggeall pllacll gy
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12) The English phonemic system has a total of.............. diphthongs ?
a) 44
b) 5 . ;
¢) 20 - ples) Ble ginlaiYl Ggeall allaill gsim

d) 8

13) BBC accent contains .....

a) 7short vowels and 5 long vowels T - o ]
b) 6 short vowels and 4 long vowels 3 Lppiafl Alall Bayoe T o isind pe ot Ve

c) 4 short vowels and 3 long vowels wlaglall (dall g o
d) 3 short vowels and 2 long vowels

14) The phonetic transcription for the word ‘pan’ is ......

= [p=n/ 94 'PAN’ 2aKI Jguall el

15) Allophones are different realizations of the same .......

a) phoneme. ( TraSgual 3udomghl ) aguigill podal Labisel) ST, dany Slatll il 5a el
b) Allophone

¢) Allomorph
d) morpheme

16) We use the term '...................." to refer to the process of converting from one
repeesentation (e.g. written text) into another (e.g. phonetic symbols).
a) Transportation
b) Transliteration ) et 00 gy of 3 Aglas J| 5 rlgumtt] feaniM pllsas poskte)
c) Transaction (450 334)) 31 ) (a2,

d) transcription

17) In complementary distribution, a phoneme ........

a) can occur where the other cannot. B gli3 Slmen 2isaall gl . eaEl poisill
b) Can occur where at the same time 25T Glme B glAT ¥ Ly be Gl

¢) Can occur where the other can
d) Cannot examine the position in which each particular phoneme occur
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Lecture 12 e LG 3 puo lonadt

1) The /I/ consonant found at beginning of light is
a) a bilabial nasal sound
b) lateral approximant sound

c) avelar nasal sound @l gy Ciguall.
d) a sound that is always syllabic
2) Manner of articulation for /I/ is ?
a) Approximant —_—
b) Affricate @Ol s 3TN Ogaalt © /1] gl dilo

c) Lateral approximant
d) approximant

3) When the lateral approximant /I/ is produced, the air.............

a) escapes through the nasal cavity - s s )
b) escapes along the sides of the tongue e FEAA sl ile =8 U’d.13|“| "
c) Is compressed behind the vocal cords Slulll Slg Jgta

d) Is blocked by the lower front teeth

4) the consonant __ has an approximant manner of articulation ?
a) /d/
b) /d3/
c) /3/
d) [r/

§ @ladll § da)lis dise I [ 1/ Sl ciguall
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Lecture 13 e AN 3 pusloxelt
1) Jor/ is an example of

a) asyllabic consonant or e Jlia
b) a consonant ciusti.er . o ihics plaia
c) azero-coda syllabic with an initial consonant

d) a minimal syllable

2) Choose the example that represents a minimal syllable ?

a) Strong
b) Book §pieo plada o sl S il JUL sl
c) Went
d) Err

3) /err/ is an example of ? err Je Jita
a) A minimal syllable sidio alade

b) A consonant cluster
c) A zero-coda syllable with an initial consonant
d) A syllabic consonant

4) /are/is an example of ?

s
a) A minimal syllable ETE‘_#. J—
b) A consonant cluster sdio plade

¢) A zero-coda syllable with an initial consonant
d) A syllabic consonant

5) It is a single vowel in isolation, followed and preceded by silence: minimal syllable

= or (OF aiall alaill) culie Siggas Fauias Bgis Juadia As Sigio g8

6) Choose the example that represents a zero-onset syllable
a) Break
b) Breaks (el &l § (Sl S Ogels G0 ) Wl Giges plada Jhoy I JUELT A1
c) Go
d) am

7) choose the example that represents a zero —onset syllable?
= tae-nl ol Oy plada Jiay g UT JULI s
In -eat
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8) The word “far “ has
a) azero-onset syllable
b) an initial consenant cluster

c) azero-coda syllable
d) a minimal syllable

e far aug
we Gpa o 9 (Salu Ciguay il alade
fa gl far wic

9) which of the following represents a zero-coda syllable:

a) Key
b) Am
c)Are
d) Or

10) The word “ key “ has ?
a) A zero-onset syllable
b) An initial consonant cluster
c)A zero-coda syllable
d) A minimal syllable

dailedl o JUs Gaada Jas b Las gl

e "key" L
adlitl o IS alade

11) Which of the following represents a zero-coda syllable ?

a) Bar
b) Are
c)Or

d) am

12) The word “ bar “ has ?
a) A zero-onset syllable
b) An initial consonant cluster
c)A zero-coda syllable
d) A minimal syllable

13) The word “car” has?
a) Zero onset syllable
b) Zero coda syllable
¢)Minimum syllable
d) An initial consonant cluster

0544337029 5 laile jauds

ikl o JUs Ladada Jhos b Les i

Sleu "bar" a.g
e liud| o LS alade

[ 48]
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14) Fortis consonants are
a) Weak 1P baudll Silgpavl
b) Voiced el Olgual
c) Diphthongs ———
d) strong

15) Fortis consonants are ?
a) Weak
b) Voiceless
¢) Diphthongs i Ol guat:
d) voiced

:‘J‘ okl |:|13.40Y|

16) The phoneme ......... is a post-alveolar affricate voiced sound

a) /fdf (i (GiRal Gei any e Sigeo [d3] »2sgalisassh
b)} %‘L SKinly @il g gilmisly
C

d) /i/

17) the correctly /j /has a place of articulation ?
a) Dental
b) Palatal i Gl (K [ o cgeall
c) Alveolar
d) Labiodentals

18) the correctly /w /has a place of articulation ?
a) Velar
b) Approximant
c) Bilabial
d) Glotta

Gy laje dikas s /W/ ciguall

19) The plosive consonant /d/ can sometimes be nasally released by

a) lowering the sides of the tongue _ , .
b) raising the soft palate I e Leil g o oSes S :,s,l;-m Sigeall
c) blocking the airstream at the lips Sl cOlga aladedl-

d) lowering the soft palate
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20) Lenis consonants are ?
a) Weak
b) Voiceless A Al S geat
c) Diphthongs s Ol geat-
d) strong

21) Lenis consonants are ?
a) Voiced A Uglll gt

b) Voiceless il g
c) Diphthongs X

d) strong

22) Lenis are.....
a) voiceless consonant

b) Fortis consonants X R JEN P
c) weak consonants Paad ikl Ol gl

d) strong consonants

23) fortis sounds are ......
= strong while lenis sounds are weak.

= Weak while lenis sounds are strong

. : i HT—_—
= Voiceless and voiced = e FAi el

= None above

24)  Which of the following is a zero-coda syllable?

a) Man.

b)) Eat (e iy Liule 2aB aey) € oSl igio Lol ke J mge ¥ plade g s Laa
c) More. More
d) Sing.

25)  Which of the following a minimum syllable?

a) Tap.
c) Tie. (e iy Ll e
d) Are
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26) Which of the following is a zero-onset syllable?
a) Book
b) Break oSl Sigm BalI hts § gy Y plade 58 b Laa
c) Door (ile Cigras L s dnay)
d) orange

27)  Which of the following is a zero-onset syllable?

a) Ease. r
b) Break. Ol Sige AT i..lla.!:j.q-_,._-‘i:h.i.n_,.a‘.éh.chﬂ

c) Broom. (ale cigras Kl s gass)
d) Key.

28) Choose the bilabial approximant consonant.
a if®
b}) ﬁ[* (il Cay lais Jygdddl lastl oSLadl cigpall fsl
c) /s/
d) /d3/

29) Manner of articulation for /j/ is ?
a) Approximant
b) Affricate Tty ke Silgual // 1 by 3l 2
c) Fricative
d) plosive

30) choose the correct sentence?
a) /tlis a nasal consonant
b) /wlis an approximant
c) /f/is an affricate
d) /h /is palatal

Ayl Alasl! Aol

31) Choose the alveolar lateral-approximant consonant.

a) /if* _ e
b) /I/* Sub oo gl )l wiledl Gl Sgiall 75
c) /t/ (fiwdl ) pall hdiay olualll
d) /f/*
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32) There are ....cccocvaeess alveolar consonants in the English phonemic system ?

a) 4

b) 7 SEla 3aUl § Jsall alacll § (1) o joead Silgea) i ilia

c) 6

d) 5

33) choose the group of sounds whose place of articulation is alveolar ?

a) s-n-t-z

SN Lealal (IS G Slgao] Aogama jlisl
b) k-h-v-n

s-t-n-2

c) jlt-g
d) s-h-j-r

34) The phoneme is a alveolar Fricative voiceless sound?
a) /z/
b) /h/ (($S221) B o Flaky Cigee (P S Lgeall 5ungll
c) /sl
d) fv/

35) The phoneme s a alveolar Fricative frotis sound?
a) /z/
b) /h/ ( (S851) Bl o Blals Sipes (P S 2guall Sumgll
c) [s/
d) v/

36) The two consonants /s/ and /z/ are examples of :
a) Post-alveolar
b) Velar tdeaad f2/ 5/ [ st cigya
c) _Alveolar Alveolar
d) glottal

37) sounds are consonants in which the tongue makes contact with the highest
part of the hard palate?

a) Dental
b5} Akaolar oibial) bl e 65 ol Gladlf Led Jeads J1 BSLAI clgaahl piruSomiond!

c) Palatal
d) Labiodental
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38) choose the correct sentence?

a) Lenis consonants are strong while Fortis ones are weak
b) Lenis consonants are weak while Fortis ones are strong

c) Lenis and Fortis consonants are both weak
d) Lenis and Fortis consonants are both strong

+ dagall Alasell jlasd
Ledioky PAiaimids rabdealt i budt St gua S

PETC I TR (Ju P ()

39) A group of consonants at the beginning or end of a syllable is called a........

a) consonant cluster
b) consistent cluster
c) consonant classer

e plaill Al ol Uluy § LSl Slguat o Lo gazma
sl O gua S Al

d) consonant cluster
40) Two or more consonants without any intervening vowels is called a.................. ?

a) Constant cluster

b) Consistent cluster
c) Consonant classer
d) Consonant cluster

giirrléicgaiﬂﬂadi»i:;:}laa;ﬁﬁ;i¢¢E1u;«%{
Sl Ol gua W1 Aliss alsiuull alal

41) choose the example containing consonant cluster.

= start, smoke , post

WSL el e A o) Wiadie e (Soioe 31 Al 75

42) Choose the example containing consonant cluster ?

a) Pay
b) Hai
c) Post
d) car

§ oSl Cugee ALE e oty g JBLI A5

43) Choose the example containing consonant cluster ?

a) Pan
b) Sun
c) Far
d) strong

0544337029, 3ladele (e i

§ oSl Cugio S e gaia gl JULI A5

[ 53] iV QX PEPIN ‘r'l"_’uﬂ.,nm!, LS guall

6TOLEEFFSD

<y wpeen




TS T o P | (ot Jrast 2 1440 iyt i) | (UM Jeadll 2 1240 o), 2000 2

(2 1440) Jo¥1 Leail! | (2 1439) LN Jadll ]

(41439 ) Js¥ Ll [ el

44) Choose the example containing consonant cluster ?

a) Pay

b) Man
c) Start
d) some

§ oSlas igua AS e gyimy g JUALI s

45) Choose the example containing consonant cluster ?

a) Pay
b) Hai
c) Men
d) prompt

§ OSlu Ciguo AS e goday gl JULY A

46) Choose the example containing consonant cluster ?

a) Smoke
b} Man
c) Son
d) some

§ oSl Sigee ALS Lo geims gl JULE Rs

47) Which of the following words represents a syllabic consonants ?

a) Bottle
b) Eaten uakadl! LSl gyl Jhas RN Sl g gl
c) Go
d) few
48) The plosive /t/ in ‘bottle’ is laterally released through.......... R

a) The sides of the soft palate
b) The sides of the palate

c) The sides of the tongue

d) Raising the soft palate

Slalht Giila se

49) The lateral release in 'cattle’ happens by................ ?

a) Laising the soft palate

b) Sides of the tongue are lowered
¢) Raising the tongue

d) Lowering the soft palate

0544337029 5kaixle reus [ 54]
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50) Choose the word that can be pronounced with a lateral release?
a) Good
b) Eaten ile = g Jlals JI AWK 55l
c) Sudden
d) cattle

51) Choose the word that can be pronounced with a lateral release

a) Good
b) Eaten @il o3 pe 3lais I AaK As

¢) Sudden
d) muddle

52) Choose the word that can be pronounced with a lateral release?
a) Good :
b) Eaten @il gy pa lais G AaKT1 55
c) Sudden
d) bottle

53) Choose the word that can be pronounced with a nasal release?
a) Good
b) Bottle il 3y pa Blaii G AaK) Al
c) Break
d) sudden

54) The nasal release in 'sudden' happens by..........cc... ?
a) Raising the soft palate

6ZOLEEYPSO

Ty ren e

b) Lowering the tongue gube ;e "sudden’ § i pyaall duay
c) Raising the tongue Asld Eaindl paas

d) Lowering the soft palate

55) Choose the word that can be pronounced with a nasal release.

s e

c) More,
d) Sing.
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56) The nasal release in 'eaten' happens by................ 7

a) Rraising the soft palate
b) Lowering the tongue

c) Raising the tongue

d) Lowering the soft palate

Sub oe'eaten’ § i il Lo
Al Salsd A

57) The plosive consonant /d/ can sometimes be nasally released by ?
a) Lowering the sides of the tongue

b) Raising the soft palate

c) Blocking the airstream at the lips

d) Lowering the soft palate

0544337029 Slaile jreuis

Ll oy o oS [ A/ gylaii¥ cigpall
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Lecture 14 e (aadl y3) 3 s loealt
1) Most native speakers of English find an ‘all-strong form’ pronunciation ...............?

a) Unnatural and foreign-sounding
b) Natural and foreign-sounding 3-multilateral and foreign-surroundin

¢) Multilateral and foreign-surroundin " 5adll JEAT 6 gl o Apalaity! sl pulelil) alaang ase
d) Unilateral and florin-sounding fotia gy acdo yud

2) Speakers who are not familiar with the use of weak forms are likely ......ccccenunnnas
understanding speakers who do use weak forms ?

a) to have no difficulty when they try to

b) to have difficulty plasial s e lptd Gudll Ogtasmill a2y of Jatall oo
Ggasieii plll lamill gD (B Pdgmua Wigaall JEIY
c) to feel very happy when they try - s g sl

d) to cry loudly when try to

3) Assimilation is more likely to be found in ?
a) Consonants cluster
b) Rapid, casual speech, the final alveolar consonant / t/, will become before a

bilabial consonant
c) Vowel and consonants
d) Hussain

Ligas ASY! ALl oy B9 pdyo ollass 3 39290 0950 O sl oo laulud
AL gydl e 5 @1 Slaglad

4) Assimilation takes place in
a) natured disconnected speech
b) mechanical robot speech
c¢) natural connected speech
d) national corrected speech

d Sty alaga¥!

ialedl paidali Llladell-

5) Assimilation takes place when a sound belonging .......

a) to two words can cause changes
to the sounds of a neighboringbird | g bl sl s fngimet] il
b) to one herd can cause changes to the e Sl iy Sl §f gylalui Susly aléa -
sound of a neighboring song Stlpall ipallinll Cgw

c) to one word can cause changes to the sound of a neighboring word
d) to one world can cause changes to the sand of a laboring nerd
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6) In regressive assimilation
a) Ci changes to become like Cf
b) Cf does not change at all
c) Cf changes to become like Ci
d) Cf changes to become a vowel

7) In progressive assimilation
a) Ci changes to become like Cf

Tssadt pudly Cf 5 W1 Galud) Sguall 535S, ol oilaial §
Ci lgall 3N Palsaldl o8 Jy¥1 Gt Siguall Jla

Tossat puily Ci pud W GSaliatl Siguall 15K, gacbasll wladad §

b) Cf does not change at all
c) Cf changes to become like Ci
d) Cf changes to become a vowel

Cf lguls i Dralsalt L Jo'¥1 Sfaludt Oiguall (Jla

8) which of the following is an example of linking /r/:

a) the careis /8a ka:ri1z/
b) The case is /the ka is/
¢) Horror

d) He arena

v dad e Jta b Lea g

9) choose the correct transcription that represents the use of a linking /r /?

a) Foureggs/fa:regz/
b) Here is /hiaiz/

c) The red bus/ da red bAs
d) The careis /daka:ri1z /

!r! Ciges .h.p rl.‘l.‘ﬂ.ul Jied |=5J1 draseall diguall LUEST L]

10) Which of the following is an example of linking /r/ ?

a) The mousi: eamus
b) Smart
c) Hosah:ausia

d) Here is /hiar 1z/

o gl e Sl b Lea gl

11) Choose the word in which the final /s/ morpheme is pronounced as a /z/

a) Rate
b) Racks

c) dogs
d) mishaps

05443370295 kadele rauts

Z3aiisS Lale Sl 2K s
dogs-
Z Gl ajlial Slgpal 4 Tl ozl 131
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12) Choose the word in which the final /s/ morpheme is pronounced asa /z / ?

a) Pams Z ki oS Loty G LK)l A5
b) Racks ams.
c) Rats

d) mishaps

13) Choose the word in which the final /s/ morpheme is pronounced asa /z / ?
a) Rats

b) Travels 2 ghii s S Lule I LKl Asl
c) Racks travels -
d) Mishaps

14) Choose the word in which the suffix /S/ is pronounced as /z/.

a) Cats.

b) Jumps 2] a3 S RSN Lpd I 2! A5l
¢) Rats. Runs
d) Runs voiced gjlia! g ool TUN S oY

15) The article “ the “ can be pronounced as /da / ? ) -
a) When it before the voiceless plosive cosonants / f/,/s / 88/ 1S lydadt 2l Sy the ciyazh 4l
b) When it occurs before consonant i Lt gyt B 31 Letie-

c) When it occurs before a vowel
d) When it occurs before the voiceless plosive consonants /p/, /t/, and /k/

16) Choose the article can be “ the “ is used in its strong form ?

a) /oi/

b) /83/ 138 Lakais ol oSas the isyaill 5153 geall JSA1
c) /6a/ / 83/
d) /ed/

17) The strong form of the definite article ‘the’ in the phrase ‘the classroom’ ?

a) /da/

b) /6i/ the classroom 5;Leall §the caaall 3155 geall JSAI
c) /aa/ / 83/
d) /ed/
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18) Choose the example in which “the” can be pronounced as /33/ ?

a) The umbrella
b) The economy

c) The classroom
d) The incident

13/ 83/ gl oI the J oS g Jitl 7l
the classroom -

19) Choose the example in which “the” can be pronounced as /33/ ?

a) The way

b) The economy
c) The incident
d) The umbrella

20)
a) the range
b) the kitchen
c) the nearest
d) the old man

21)
a) The school
b) The first
c) The Virginia
d) The umbrella

15/ 88/ gl ol the J ;Ko @il Jutl s
the way -

Choose the example in which “the “ can be pronounced as /8i/

13 /81 / glass o) the J ;Say gl JULI 7a1
the old man -

& glass- 6/
15 ghau 8/

Choose the example in which “the” can be pronounced as /8i/ ?

13 J8i / ghais of the J ;e il Jult isl
the umbrella -

22) Choose the example in which “the” can be pronounced as /8i/ ?

a) The home
b) The new

c) The economy
d) The door

15 /81 Glais o) the S ey il JULI jis
the economy -

23) the weak form of the definite article ‘the’ in the phrase ‘the old man’:

a) /[éi/
b) da

Jemadl Japti ( the old man ) slall § the ciuacll 32Y gl S

¢) du
d) da

0544337029 Slasls Aeds
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24) Choose the article can be “ the “ is used in its weak form ?

a) M 1480 Ldlasi o) o%as The Ciupadtl 31Y Ciuaall JEAT

by #Bof /88

c) /6a/

d) /ed/

25) the article “ the “ can be pronounced as / i/

a) when it before voiced consonants
i 81/ 138 Lakais ol oS the iyl 5lsl
b) when it occurs before consonant cluster it g -

- e =L
c) when it occurs before a vowel ploCinee —

d) when it occurs before the voiceless plosive cansonants /p/, /t/, and /k/

26) choose the example that represents a case of intrusive /r/
a) Here you are

b) Right and wrong agdabait /1] Sy gilt JISt) 750
c) Formula A Formula A

d) past and present

27) when a word that ends with /r/is followed by a word that begins with a vowel
[r/is ?
a) Not pronounced @latd G fr].. Us Cipumy 1055 48 Lealy [] o a8 il atis
b) Pronounced
c) Doubled
d) Assimilated

28) choose the correct transcription that involves assimilation:

= [mi:p pai b plaaa) ety G pesaal] fsnddl L

29) choose the sentence in which “ that “ is used in its weak form

a) That man is a teacher living in Brazil ) chsaiall LA " that " aveactl Al A5
b) I met that man when | was going home o o3 a1 i 01 Bl ( il
c) They pointed to that girl when they saw the manager s

d) Th rt that plays tennis i friend e
lnhe smart women that plays tennis Is my rient y e s I
} The smart women that plays tennis is my frien » ( that )

30) choose the phrase in which that is used in its strong from?
=  That man

L sl gaall JSAI1 4 Reaiawdl that 5le ks
Ja I =85 That man
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31) Choose the sentence in which “ that “ is used in its strong form ?
a) That man is a teacher living in Brazil $5all L2 "that " 2l alealt sl
b) | met that man whe.-n | was going home U5l B Juag alae 90 Syt 128
c) They pointed to that girl when they saw the manager
d) The smart women that plays tennis is my friend

32) The functional word “ that “ is used in its weak form/dat/......
a) when it functions as a demonstrative article - : e i
b) only when it is following by a consonant Sl NHR J VRO A a3
c) when it functions as a relative pronoun dgiags surfiin lagell dainy A I boia:

d) only when it followed by a consonant cluster

33) The functional word “ that “ is used in its strong form ?
a) When it functions as a demonstrative sense -
b) Only when it is following by a consonant oy e - - et
c) When it functions as a relative pronoun i) s gaRiis i bviiat laidicy:
d) Only when it followed by a vowel

34) Speakers often use intrusive /r/ in a similar way to link ?
a) Word ending with a constants
b) Word ending with a constant cluster
c) Words ending with a vowel, even when there is “justification” from the spelling

d) Words ending with a vowel, even when there is no “justification” from the
spelling

£ e W1 9T iongil (3 e S lid Gesmy W Ledic (i

35) Assimilation the cases most often described are ?
a) Affecting vowels
b) Affecting vowels and consonants

c) Affecting consonants
d) No affecting consonants

Tolo plaas § Ldioy piy A1 Ll Glaulal
ALt Jag el e 3455 -

36) Choose the phrase whose pronunciation can involve an intrusive /r/.
a) Bad boy. . :
b) That girl. 17 Jasalaiav 5 audaaall Lalas pagass of oS 1 8ylall 751
c) Media event (el o Bualmzdl 4l w2 g3 3laills) Media event

d) Mohammed ALHILAL.
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37) which of the following is an example of intrusive /r/:
a) Australia all out
b) Bad boy.
c) Thatgirl.
d) Mohammed ALHILAL

v ] ikl geall Ve sas b Las gl

38) Choose the correct transcription that involve assimilation for the phase 'meat
pie".
a) Meat pie' /mti:
b) Meat pie' /mi:t pai /. ‘meat ple blyall plaga gty gl pemall falll A4
c) Meat pie' /mi:t tai/.
d) Meat pie' /mi:b bai/.

39) choose the correctly assimilated transcription for the phrase meat pie?
a) mi:tpal =
b) mi:ttar LS s lad Meat pie sjlall gladuy Jeeall fudll s
c) miptai
d) mui:p pai

40) Choose the correct transcription that involves assimilation for the phrase “that
person” ?

a) That person” / 8zep ta:sn / that person 3;Lall wlaiu¥l el gill pameall gl s

b) That person” / 8aep b3:sn /
c) That person” / 8aep p3:sn
d) That person” / 8zep ta:sn /

41) Choose the weak form transcription for the word ' That ' as it is used in this
sentence "This is the book that sally bought."

[ dat /
Z]] /53:1:/ LS That 4t Capaall LA ( aggall LUSI) Sigall gudll A5
c) /da:t/ ( Jlw 580 gidl 2SI ga 1ia ) : Alesl ala § coactdeia]
d) /ha:t/

42) Choose the strong form transcription for the word “that” as it is used in the
sentence : “ That apple was hot as hell “ ?

a) /dst/
b) [Beet/ LS That wuS) gaall LA (Rigall L) swall ganill 251
c) /hae:t/ ( pereedl Jia Wbl B Lazll ol 2 ) s dlandl i § Cuaaieinl
d) /dat/
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43)  Speakers who are not familiar with the use of weak are likely ...... understand

speakers who use weak forms. o 18 snll JEAN al il e lall o el gbunil

a) To have difficulty when they try to. L

B - N Leudia Tl = .
b) To have no difficulty when they try to, | > ¢! dslaim laic "“"“‘“"f"’* S
c) To cry loudly when try to. i)l JEAW paniiay cudll (usall

d) To feel very happy when they try .

44) most native speakers of English find an ‘all-strong form’ pronunciation .....

* unnatural and foreign-sounding. Ll glaill JKAT prar Oigum p¥ Ajalai¥ QAL cafuacll alans
Al aydg ppasda pul Olgual
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